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REHM ¢ FR29FE6B1H (K) ~FER29F6830H () (BN @ N 9LIb/kg)
=1 — = o BREH . BHERERE]| | . EHERRE
== | HTHY 5uE ERERS 68) | BIM3E | Thomiizy | BIM3T | (hyminar)
(EES w2y BB P EHET 23H(N)| A 8.9 | & 7.7
EES 1 F3 ELHE M 6H(L)] AigE 6.4 | ~&H 5.5
e EGES 1 F3 EBLLI 7 = FHET 3HOK)] A igHE 9.0 | A& 7.4
AEEES A4F3 81U /\LLH 5H(£)| A& 10.4 | A~M&H 8.5
5 |B AV X  |BLTmZiEE] 30H(N)| A1EHE 12.8 | A& 10.3
6 |FE ARF+ BT FREBTAHFER [ 16HCN) | A& 7.3 | A%&H 6.4
[ EES BEP BLUAmEALERARA] 1B(B)| FT&EH 10.1 | ~1&H 8.4
EES F Y BLUFZREIE/I | 23BN ~&E 5.2 | A& 4.3
CIEES Fa1oU LT 15H(B)] A &E 7.4 | A &H 6.1
MINEES Fa1Dl) L ZiEH] 19H(£)| AH%BH 6.9 | A&EH 5.6
11 |8 FaDl) L ZiEE] 19H(8)| A%H 6.8 | A&EH 5.5
(REES Fa1oU BB Z A5 21H(B)| A& 6.0 | ~&H 4.9
13 |8 FaDl) BT Z1E0] 5 23H(CN)| AEH 10.1 | &H 7.9
(EES Fa1oU LT ZEIEIIRE [26H(2)] A&E 8.3 | A%&H 6.0
15 |82 Fa1Dl) I 12H(&)| A% 9.4 | A&EH 7.4
AEES Fa1oU 8L = HET 15H(B)] A &E 8.6 | A& 6.8
17 |89 FaDl) E8LLIh = HET 25H(K)| A1&EH 5.8 [ A%&H 4.8
FEES Fa1oU 8L = HET 29H ()| A& 9.4 | A &H 9.0
[ENEES FaDl) EB LI PR BT A4 21H(L)| A1&EH 6.0 | A1&EH 4.7
20 [Hx Fa1oU BLUAEXLETXEFEA| 158(B)|] ~&E 8.4 | A& 6.9
A EGES aNYF ELmEAILET\LA]| 2385 (N)| A& 7.3 | A%&H 6.3
22 |Hx Jvr A1 E BLmZEEN A | 30HCN)] R~ i&E 4.4 | A &HE 3.6
23 |Hx Jvr A1 E LT ZEIEIRE [26H(2)] A&EH 5.6 | A& 6.9
AEES Jvr A1 E ELLUTHNEI LTS | 26H(R) [ A& 8.3 | A~%&H 6.7
25 B I A E FILUHmAHIEREH]| 5H(®)| AMEE 7.5 | A1&H 6.0
IEES I A E ELMmEXILBARA] 16HCN)| AEH 5.2 | A%H b.4
YIREES AyF—= BLUHEALEIREER [ 195 ()] A& 8.1 | A~#&H 6.5
28 |Hx EEE=P] 8L ZHE ] 21H(B)| A& 6.3 | ~%&H 5.4
29 [Bx J1av (F) &) |BPIUTHRIEERH IH(N)| A& 6.2 | ~MEH 5.3
N EEES ERES: WHhE 138 ()| A%&H 4.4 | EH 3.8
31 [FE IIZF LT ZHE ] 22H(BA)| A& 7.2 | ~%&H 6.0
32 B ERNESs B hZ 150 290 (B)| A& 9.4 | g 7.5
33 [Fp ERNESs EBIUmZEIE] | 23BN AEH 4.9 | g 4.0
A EES IIZF LT ZEIRE [128(&)] A &E 7.0 | A~%&H 5.6
I EES IIZF ELHHNE E7E [ 268(2)] A &HE 8.4 | A& 6.9
36 [BP ERNESs 8L mh = FHET 15H(8)| ~1&H 7.7 | ~&H 6.6
37 |F=x IIZF BB = HET 5H(E)] ~BE 5.3 | A& 4.5
LI EES IIZF ELHAHITAFEE [ 16BN R~i&E 9.6 | A& 8.3
39 [Fp ERNESs 8L HANERET 138 ()| A%&H 5.9 | & 5.2
M EES I XF BLMmEXLBARA]| 8H(B)| A1&EH 7.6 | A1&H 6.4
NI EES I XF LS AILETRAEA] 15H(8)| A& 7.5 | A1&H 6.5
VI EES I XF LS AILETRAEA] 16H(N)| A& 5.3 [ A1 b 4
X EES I ZF BLMEXILBARA| 20H(1)| A1&EHE 1.7 | A&H 7.0
T ESES I XF LS AILETRAEA] 235 (N) | A1&H 1.5 | ~%&H 10.1
N EES HN KT EBLUmEAILBTZEE| 23H(N) | A& 11.5 | ~%&H 9.9
46 B FN R+ EUmEALERENE| 9HON)| AEH 7.8 | A1&H 6.4
Y EGES Z3 EUHmEALBXAEH]| 8H(B)| A&EH 8.8 | A1&EH 7.3
EES -5 BB LI AXIET 26BN | FEH 8.9 | A~%&H 7.1
49 [Hx INYASTA DY |BUTZEIRE | 26H(R)] FA&E 6.2 | ~&H 4.7
NEES NYATA4 3V [BUmREXALENLA] 238K R&H 8.1 | A%&H 6.6
S EES P ESLHEEEIE 26H(2)| A& 9.6 | A~&H 7.7
R EES R BB 5 A0 E] 13H(L)] R~ &HE 9.1 | A~%&H 7.4
5 [IE-EDCFE[UFR BRI & XIET 26H K[ AR 10.2 | ~&HE 8.8
NERE R Pk EBLUmEXAILETZEH| 15H(B)| A& 9.5 | Ai&EH 10.2
5 [ZE:-ZFDZFE[V157 —AWTH 208 (1)| F&H 11.9 | ~&E 9.5
5 [IZ:-=DZFE (¥ /3 AlIERE] 14 5H(2)] ~@E 6.4 | A~&HE 5.5
57 [ -=DFE|[¥F7 /3 ST ZZAEm] 5H(&)| A& 9.1 | A%&H 7.3
58 [l -=0CcE (75 /3 8L 7 T 19H(®)| %L 7.5 | A%&H 7.8
5 [IZE-=0ZFE|[¥F7 /3 ST = A HH] 198 (£) 12.4 7.2 38.6 6.8
60 [IZ-=FDCFE [~/ LUTHNETIL  [298(B)] R~ &E 7.4 | A~&HE 6.1
61 |- =DCFE (¥~ ./ ER LT Fa AT 30H (N) 8.3 6.7 43.9 4.9
62 |- =DCF|(F7 ./ ELTAHI=8H | 7TH(H)|] &L 7.3 | A~%&HE 6.9
63 |lUIZE-FTDCFE|(H¥H /O LU FAHBT R 5H(&E) 16.7 9.2 107.4 8.0
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BREETRFOMSEREER CGEHREXLZDXFHENSDNDA) 2/2
REHM ¢ FR29FE6B1H (K) ~FER29F6830H () (BAfT : A 9blb/kg)
=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (6g) | BIA134 (by9h134) 994137 (b994137
TENERER L= ELLHARTAR | 14H(H) 10.4 8.2 88.0 7.4
65 |[IEE-FTDCFE|(F¥H /O 8L HADERET 12H(&)| AH%H 9.0 | A1%&H 7.6
66 |IEE-FTDCFE|(FHFT /O a8|llm 6H ()| A& 8.7 | AiEH 8.2
67 |IEE-FTDCFE (/O HE =FH] 5H ()| A& 5.6 [ A%&H 5.9
68 [IZ-=FDFE[FFT /3 — AT 1480 (H)| A& 5.8 | AM&EH 5.0
69 [ILE-=ncFE (¥~ /3 (7n) [EfUm 6H(L)] AigE 7.6 | A&H 6.1
70 (IE-F0o2E|[¥7 /3 Gn) |[BLUTTRENFE 6H(L)] AigE 6.0 | ~&H 5.2
71 [IlLE-=E0cE |7 /3 (7)) [HENE=FH 1H(B)| Ai&E 8.9 | A& 7.3
72 |IE - FQZFE|ZYAUSYS BT A TH(H)|] A &E 6.6 | A&H 6.6
ENERED R A YEPYERERENG® D TH(H)|] A &E 8.5 | A& 7.3
[NERERRAPES SRR R R 128 ()| A% 8.2 | A& 6.7
75 |[IE - FQOZFE[T7F SRERRRAT 19H(&)| < &H 7.7 | A%&H 6.3
76 [ -FQZFE[T7F SBERE L LIET 5H(2)|] AigE 6.6 | A~&H 5.7
77 (I -FQZFE[T7F NBERE LIAT 12H(2)] A~ &H 8.9 | A& 7.5
EINERERRIRES SRR = SH] 5H(2)|] AigE 8.5 | A& 7.0
EHNERERRMAPES BT X H 1MER)| RA&HE 12.3 | A& 10.1
INERERRMHAPES B LhEs RiE 158 (B)| A#&HE 1.1 | A& 10.8
NERERRMHAPES 8L = HET 5H(2)] A igE 9.7 | A %&H 8.4
82 [ -FQZHE|[T7F HA AL =&FH] 1H(B)| Ai&E 5.7 | A& 7.7
83 [lLE-=FnCcFE|[7F SR LR IR AT 6H(X)| ~&d 9.3 | A%&H 8.2
84 [ -Fn2FE|[7F (&) SRERRRAT 5H(®)| A~ &d 5.5 | A~ &H 4.6
HNERERMAEPSS SRRARRRA 128 ()| A%&H 1.7 | A% 9.6
86 (- FDCFE|[TSE SFEMA TH(H)|] A~ &E 9.0 41.6 6.6
NERERMHAPELS SRRARRERA 198 ()| A%&H 1.0 | A& 8.2
88 (- FDFE|[7SE AoBERE I LIBT 5H(2)|] A~ &E 8.2 | A& 7.0
89 [EE-FDFE[TSE BB LT AT IHCN) | AR 9.9 | A&H 8.5
0 [IFE-FOFE[TSE R ER A | O] 1H(B)|] A &E 5.1 111.9 14.3
91 [EE-FDZFE|[7SE ERmER R | ] IHCN) | AR 8.0 | A& 6.8
92 [IlLIE-=T0cE|[TS5E (HER) [KEE=ILET 198 ()| A%&H 5.6 | A& 5.8
93 [FE-FD2HE|T75E (&) B ER<E | LIET 58 (£) 7.5 6.3 42.6 6.1
94 [R=E T X (518) BB L T 7R AT 13H(X)] A &E 5.4 | A &H 4.8
95 [R=E T X (5i) EB LT 7RAET 13H(3)| ~&H 5.5 | A& 4.8
9% [R=E T X (5i) BILUhZiEmT el [ 268 0K)] AM&EH 5.4 | A& 4.5
97 [RB=E T X (5i) BLUHHEHANEERE [298(B)] ~&E 8.3 | A%&H 6.7
98 [R=E T X (5i) ERLLTHIR 26H(K) [ AR 4.6 | A&H 4.0
99 [R=E T X (5iE) ERLLTHIE ~E] 208 ()] ~%HE 5.8 | A& 6.2
100 [E=E T X (5i) L EIE 28H(H)| A& 6.4 | A&H 5.4
PIEES T X (5i) EBLL T PR T 260 (&) ~%HE 8.9 | ~&H 7.8
IPEES T X (5iE) BB PR AT 23HCN) [ AR 4.1 | A &H 3.3
103 [EB= T X (5i) BLUAEALEZREA] 198 ()] FEE 5.5 | A& 4.7
TAEES T X (5i) BLUAEALEXREA] 198 ()] ~EE 8.5 | A& 6.9
105 [E= T X (5iE) BT ZEARET 21H(B) | A& 7.7 | A~%&H 7.0
106 [ER=E T X (5i) HA ™ 208 ()] ~%HE 4.6 | A&HE 3.7
107 [&B=E T X (5i) WEEEB= BT TH(H)] A~ &E 6.6 10.4 7.1
108 [E=E o X (F/1vE) |BBLLTRR 6H(X)| ~&d 6.0 11.3 6.2
109 [E=E o X (/) |BLLHER 208 (H)] ~%&HE 8.6 | A& 7.0
110 |R=E X (F/vE) [BLUHmEXALETAREH| 2HON)| A&l 7.8 | A1%&H 6.2
11 [B=E o X (F/v8) [BLUmEALEER | 19H(E)| A%E 8.6 | A& 7.1
112 [BE o X (F/1vE) |BLLUTHZRIEH] 260 (&) ~%HE 6.7 | ~&H 5.5
113 [B=E o X (F/1vE) |ZA&NH 2H(B)| A& 4.9 9.5 5.4
114 [BE <] BT ERAR 26H(K) [ AR 5.7 | A %&HE 6.1
115 [EB=E ED L EIE 21H(B)| ~%HE 8.2 | A~%&H 7.2
116 [B=E <] MUF=EALETRER [ 218(H)] R~ &E 7.4 | ~&H 7.1
17 [BE 5 AN — L hZ 150 21H(B)| A& 6.3 | ~%&H 5.3
118 [E=E 5 AN — L hZ 150 260 (&) ~%HE 13.3 | A~ &HE 10.0
119 [Zofib B+ EILUTHEANBTEE [ 30BN M 5.9 | A~ &H 5.0
120 [Z0fib B+ ()\iE) N ] 22H(B)| A~1&HE 4.5 | A &H 3.9
121 |[Z0ft NFZY BLUAEALETR/NR] 27T8(H)] NEE 9.5 | A~&H 7.7
122 [H28EFEXR X (BX) Al EB~FH 15H(8)| ~&H 6.1 | ~%&H 5.0
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